
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s SUPREME ENGINEERING WORKS, S.NO:2-132/2 SHOBANA COLONY, BALANAGAR HYDERABAD

Telangana is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Ordnance Factory Medak Precision Machined Components (Forging

components with machining)

13-08-2007

2 Sheet Metal Fabrication 13-08-2007

3 Fabrication Works 13-08-2007

4 Gun and Shell Factory FABRICATION OF GAS BLOCK TO

DRG.NO.AO-18.01.020

23-05-2015

5 Fabrication of Shutter ring to Drg.no.A.O.18.01.028 03-12-2016

6 BOLT TO DRG No M10 8G X 55 109 40 X 029 IN

FINISHED CONDITION Description : BOLT TO DRG

No M10 8G X 55 109 40 X 029 IN FINISHED

CONDITION [ENR Registration]

29-04-2019

7 SCREW TO DRG No M4 6GX6 point 33 H 026 IN

FINISHED CONDITION Description : SCREW TO

DRG No M4 6GX6 point 33 H 026 IN FINISHED

CONDITION [ENR Registration]

29-04-2019

8 BOLN TO DRG No BOLT M10 8G X 55 109 40 X 029

IN FINISHED CONDITION Description : BOLN TO

DRG No BOLT M10 8G X 55 109 40 X 029 IN

FINISHED CONDITION [ENR Registration]

29-04-2019

9 RING GOST 13943 86 V55 Description : RING GOST

13943 86 V55 [ENR Registration]

29-04-2019

10 THREADED BUSH TO DRG No 9 A 621 08 015

Description : THREADED BUSH TO DRG No 9 A 621

08 015 [ENR Registration]

29-04-2019

Page 1/6



11 BUSH GOST 1050 88 Description : BUSH GOST

1050 88 [ENR Registration]

29-04-2019

12 COTTER PIN GOST 397 79 Description : COTTER

PIN GOST 397 79 [ENR Registration]

29-04-2019

13 SECTOR RIM ( AK 630 101.26) FORGING TO DR

TO SPECN ALLOY A MG6.GOST: 4784-97

Description : SECTOR RIM ( AK 630 101.26)

FORGING TO DR TO SPECN ALLOY A MG6.GOST:

4784-97 [ENR Registration]

29-04-2019

14 BOLT 2 M10 8g X 50 109 40 X 029 GOST 7798 70

Description : BOLT 2 M10 8g X 50 109 40 X 029

GOST 7798 70 [ENR Registration]

29-04-2019

15 BOLT 2 M10 8g X 40 109 40 X 029 GOST 7798 70

Description : BOLT 2 M10 8g X 40 109 40 X 029

GOST 7798 70 [ENR Registration]

29-04-2019

16 SCREW VM4 6GX30 109 40X 029 GOST 17475 80

Description : SCREW VM4 6GX30 109 40X 029

GOST 17475 80 [ENR Registration]

29-04-2019

17 NUTM8 8G 10 POINT 40X029 GOST 5918 73

Description : NUTM8 8G 10 POINT 40X029 GOST

5918 73 [ENR Registration]

29-04-2019

18 WASHER 10 01 08KP 029 GOST 13463 77

Description : WASHER 10 01 08KP 029 GOST 13463

77 [ENR Registration]

29-04-2019

19 NUT M6 6G 10 POINT 40X 029 GOST 5919 73

Description : NUT M6 6G 10 POINT 40X 029 GOST

5919 73 [ENR Registration]

29-04-2019

20 NUT M8 6G 10 POINT 40X 029 GOST 5919 73

Description : NUT M8 6G 10 POINT 40X 029 GOST

5919 73 [ENR Registration]

29-04-2019

21 RING V8 GOST 13942 86 Description : RING V8

GOST 13942 86 [ENR Registration]

29-04-2019

22 PIN TO DRG No AK 630 119 32 IN FINISHED

CONDITION Description : PIN TO DRG No AK 630

119 32 IN FINISHED CONDITION [ENR Registration]

29-04-2019

23 FACTORY SYMBOL Description : FACTORY

SYMBOL [ENR Registration]

29-04-2019

24 WASHER 3 65G 029 GOST 6402 70 Description :

WASHER 3 65G 029 GOST 6402 70 [ENR

Registration]

29-04-2019

Page 2/6



25 WASHER 4 65G 029 GOST 6402 70 Description :

WASHER 4 65G 029 GOST 6402 70 [ENR

Registration]

29-04-2019

26 WASHER A3 025 029 GOST 11371 78 Description :

WASHER A3 025 029 GOST 11371 78 [ENR

Registration]

29-04-2019

27 SCREW MS 6GX8 33N 40KH 026 GOST 1478 93

GRADE EN19 Description : SCREW MS 6GX8 33N

40KH 026 GOST 1478 93 GRADE EN19 [ENR

Registration]

29-04-2019

28 BOLT TO SPECIFICATION M8 8G X 75 109 40 X

029 Description : BOLT TO SPECIFICATION M8 8G

X 75 109 40 X 029 [ENR Registration]

29-04-2019

29 RIB 102 68 Description : RIB 102 68 [ENR

Registration]

29-04-2019

30 RIB 102 69 Description : RIB 102 69 [ENR

Registration]

29-04-2019

31 SET OF PARTS FOR ERECTION FOR AK 630 GUN

WITH ALTERNATE MATERIAL 28 MECHANICAL

ITEMS AS PER ATTACHED LIST Description : SET

OF PARTS FOR ERECTION FOR AK 630 GUN

WITH ALTERNATE MATERIAL 28 MECHANICAL

ITEMS AS PER ATTACHED LIST [Deemed

Registration]

21-03-2025

32 Vehicle Factory Jabalpur BOLT DRAIN BUSH Description : BOLT DRAIN

BUSH [ENR Registration]

13-04-2019

33 BOSS M12 X 20 OD X 30L Description : BOSS M12

X 20 OD X 30L [ENR Registration]

13-04-2019

34 BOSS M12 X 25L Description : BOSS M12 X 25L

[ENR Registration]

13-04-2019

35 BOSS M12 X 20 OD X 65L Description : BOSS M12

X 20 OD X 65L [ENR Registration]

13-04-2019

36 BOSS M12x22x25 OST 3 1496 72 Description :

BOSS M12x22x25 OST 3 1496 72 [ENR Registration]

13-04-2019

37 BOSS M12 X24 OD X 25 L Description : BOSS M12

X24 OD X 25 L [ENR Registration]

13-04-2019

38 BOSS M20 BY 25 OD 30L Description : BOSS M20

BY 25 OD 30L [ENR Registration]

13-04-2019

39 BOSS M6 OD 20 16 L Description : BOSS M6 OD 20

16 L [ENR Registration]

13-04-2019

Page 3/6



40 BOSS M6X12X30 OST 3 Description : BOSS

M6X12X30 OST 3 [ENR Registration]

13-04-2019

41 BOSS M6X12X36 OST 3 1496 72 Description : BOSS

M6X12X36 OST 3 1496 72 [ENR Registration]

13-04-2019

42 BOSS M8 20 OD 20 L Description : BOSS M8 20 OD

20 L [ENR Registration]

13-04-2019

43 BOSS M8X16X8 OST 3 1496 72 Description : BOSS

M8X16X8 OST 3 1496 72 [ENR Registration]

13-04-2019

44 BOSS IS 9550 Description : BOSS IS 9550 [ENR

Registration]

13-04-2019

45 BRACKET GOST STD.(CASTING) FOR TURRET

ASSY FOR MPV. Description : BRACKET GOST

STD.(CASTING) FOR TURRET ASSY FOR MPV.

[ENR Registration]

13-04-2019

46 Casting for Bracket for Turret Assy. Description :

Casting for Bracket for Turret Assy. [ENR

Registration]

13-04-2019

47 CATCH OBLIQUE HOOK STEEL IS 4365 79

Description : CATCH OBLIQUE HOOK STEEL IS

4365 79 [ENR Registration]

13-04-2019

48 Eye 765 58 193 A Description : Eye 765 58 193 A

[ENR Registration]

13-04-2019

49 Handle Gost Std Description : Handle Gost Std [ENR

Registration]

13-04-2019

50 HINGE GOST STD Description : HINGE GOST STD

[ENR Registration]

13-04-2019

51 Hinge Driver Hatch Assembly forging Description :

Hinge Driver Hatch Assembly forging [ENR

Registration]

13-04-2019

52 HOOK PART NO 675 57271 A Description : HOOK

PART NO 675 57271 A [ENR Registration]

13-04-2019

53 LEVER CONTROL HAND/TORSION BAR

Description : LEVER CONTROL HAND/TORSION

BAR [ENR Registration]

13-04-2019

54 FORGING FOR PIVOT FOR TURRET ASSY.

Description : FORGING FOR PIVOT FOR TURRET

ASSY. [ENR Registration]

13-04-2019

55 SAFETY BELT (FOR MPV) Description : SAFETY

BELT (FOR MPV) [ENR Registration]

13-04-2019

Page 4/6



56 Shaft 42 CR 4 MO 2 oblique TO Description : Shaft

42 CR 4 MO 2 oblique TO [ENR Registration]

13-04-2019

57 THREADED BOSS M10X18MMX18MM Description :

THREADED BOSS M10X18MMX18MM [ENR

Registration]

13-04-2019

58 THREADED BOSS M10 X 18 X 18MM [ENR

Registration]

13-04-2019

59 THREADED BOSS M10 X 20MM OD X 30MM

Description : THREADED BOSS M10 X 20MM OD X

30MM [ENR Registration]

13-04-2019

60 THREADED BOSS M12 X 1 point 75 X OD 20 X 20L

Description : THREADED BOSS M12 X 1 point 75 X

OD 20 X 20L [ENR Registration]

13-04-2019

61 THREADED BOSS M12X 1 point 75 X OD 20X60 MM

Description : THREADED BOSS M12X 1 point 75 X

OD 20X60 MM [ENR Registration]

13-04-2019

62 THREADED BOSS M12 X 20MM OD X30MM

Description : THREADED BOSS M12 X 20MM OD

X30MM [ENR Registration]

13-04-2019

63 THREADED BOSS M6 X 12MM OD X12MM

Description : THREADED BOSS M6 X 12MM OD

X12MM [ENR Registration]

13-04-2019

64 THREADED BOSS M6 12MM 16MM Description :

THREADED BOSS M6 12MM 16MM [ENR

Registration]

13-04-2019

65 THREADED BOSS M8 X 16MM OD X12MM

Description : THREADED BOSS M8 X 16MM OD

X12MM [ENR Registration]

13-04-2019

66 THREADED BOSS M8 X 16MM OD X25MM

Description : THREADED BOSS M8 X 16MM OD

X25MM [ENR Registration]

13-04-2019

67 THREADED BOSS M8 X 16MM OD X40MM

Description : THREADED BOSS M8 X 16MM OD

X40MM [ENR Registration]

13-04-2019

 

Registration No. : APSPS6495L

Initial Date of Registration : 13-08-2007

Downloaded at : 09/05/2025 10:46 am

 

Page 5/6



Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 6/6

http://www.tcpdf.org

